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SpiralEd)
Spiral 1 o
1 (A.10A)
Which expression is equivalent to (8 + x) - (7 - 2x) - (4x - 5)?
A-x+6
B2x-6
Cx+8
Dx-12

2 (A.10A)
Which expression is equivalent to (#"— 8x) + (5x? — 5x) + (4 + x)?
F4x?2-12x-9

G5x°—12x + 8

H5x2+12x -8 QV

J4x2-12x+9
3 (A.
Which n is equivalent to (6x + x?) — (x? + 7x) — (8x% — 6)?

-6
-6%5"+ 5x
C-8x2—x+6
D 8x%2 + 3
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Spiral 2
1 (A.10A)

The length and width of a rectangle are shown below. Which expression
equivalent to the perimeter of the rectangle?

2x* +3x-4

x* -8

F 3x* +3x-12

G 6x*+6x-24

H 4x*+8x-24

J 2x* +4x-12

2 (A.10A)

Which ex ion jvalent to (6 — 4x2) + (7 + 5x2) + (6 — 4x?)?

A -x2317

B 3x2

C X
-3%6+19
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3 (A.10D)

Which expression is equivalent to -5(1 + 7x) + 3(3 + 4x)?
F-15-8x

G -23 - 2x

H 4 - 23x

J23x -2

%

X
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Spiral 3

1 (A.10D)

Which expression is equivalent to -3(x + 1) + 9(1 — 3x)?
A -28x +4

B -30x + 6

C27x-15

D -4 —28x

2 (A.10D)
Which expression is equivalent to #8(1 + X) — 2(-6x — 2)?
F -4 + 4x
G -8 - 3x

J3x—-4

3 (A.

What 0 akes the equation —4(x —4)+ x = 8(—x —8) true?

C-16
D 24
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Spiral 4

1 (A.10D)

Which expression is equivalent to —(3x2 + 2x — 7) — 3(x + 4)?
F 3x*+5x+7

G-3x*-5x+5

H3x2+x—12

J-3x2-5x-5

2 (A.5A)

What value of x makes the equatio™4(x it 4) = 8(-x + 2) true?

A8

C-16

D 12

What 0 akes the equation 5(8 + 7x) = -2x + 5(—1+ 8x) true?
F G-12

= J 15
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Spiral 5
1 (A.5A)

What value of x makes the equation —-5x — 3(x +6) = 5(3 — x)true?

A 11 B -7
C -11 D9
2 (A5A)

® 0O ©) ©)
* O, © © @
N ) ONORO)
. Q2 @ @ @
Oh ¥ JRONONONO,
ONOMONONONONO
GNONONONONONG
® ®©® ©® © ©® ©
CRONOEORORONG
OHONONORONONO,

3(A.10

hichiexpression is equivalent to -(4x? — 3x + 6) + 2(x*> — 4)?
A-2x?+3 B -2x% + 2x — 11
C-2x2+3x—14 D -6x2 + 3x
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Spiral 6
1 (A.5A)

What value of x makes the equation —(1+8x)—-7x =-8(6x —4) true?

FO G 1
H -8 J4
2 (A5A)

What value of x makes the equation —4(x —1)= 2(2x -2) true?

A1 B

C2 -1

3 (A.5A)

What value of x m qua 2x-6x=8(x—1)—-4(x+4) true?

Record your an r Il in the bubbles below.

C @

LEREG@E@EEE ©

EEREEEEEE ©
LEREG@E@EEE O
LEREEE®EEE O
EREGEWEOE O
LEQAEG@EEEEGE O
CEAEEE®ROOE O
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Spiral 7

1 (A.5A)

What value of x makes the equation 5(4 +2x)=—(x-5)-7 true?
A -1

B-3

Cc7

D-2

2 (A.12A)

Which sets of points represent fungtions

l. {(3,2), (-3,-2), (4,5), (-4 -w
Il. {(3,2), (3,-2), (4, @' (O,

. {(2,5), (-3,-5

IV. {(3,2),

d Il only
J I Il,and IV
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3 (A.12A)

Which table does not represent a function?

A B
X y X y
-3 2 -3 2
1 4 -1 4
1 6 -1 6
3 8 -3 8
5 10 -5 10
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Spiral 8
1 (A12A)

Which representation shows a function?

F G
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2 (A.5A)

What value of x makes the equation 5(x +1) = 4(x +3) true?

A-5
B3
C -1
D7

3 (A.12B)

Given f(x)=4(x-2), what is the value off ? Regord your answer and

fill in the bubbles below.

: © OO0 O
© 0o O © © O
OOOLOLOOO
ONORONONONORO)
ONONBONONONORE),
ONONBONONONORO)
ONONONORONONE
ONORONONONONG
UNONONUNONORG,
OHORONONONONO),
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Spiral 9 |
1 (A.12B)

Given f(x) = %x —4 ,what is the value of f(3)?

A 3.5
B-2.5

c-3
2

w)
N | O

2 (A.12B)

Givenf(x)=2(5-3x),what is the ff(=)7?

F 16 V
.3

H 14
J6

X

winN
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3 (A.12E) -

The formula for perimeter of a rectangle is P =2(/ + w). Which formula
below shows the same function solved forw ?

AW=E—/
2

BW=I—E

2

cw-=!
2

Dwzﬂ
2

X
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SpiralEd
Spiral 10 |

1 (A.12E)

The formula for area of a triangle is A = %bh. Using this informatiog, wh

would be the formula for the base of a triangle in relation to its nd
height?

h

Fb=—
2A

G b=1A+b
2

Hb=22
h

1
Jb=2_
A

2 (A.12B)

If the domain of t , f(x)=2(x-6), is {-3,2,5,8}, which term is
included i
A -1
B -4
C6

-8
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3 (A.3C)

What is the x-intercept of the line shown in the graph?

F — G -15

-6 J(22)
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Spiral 11 o
1 (A.3C)

What is the y-intercept of the line shown in the graph?

A 23 B 3
C 24 D-0.8
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2 (A.3C)
Which function is represented by the line?
1
0
-3 -2 -1 0 1 2 3
-1
-2
(14-
-3
-4
(9, -6)
G 4x-y=-6
J 4x+y=-06
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3 (A.3C)

What is the x-intercept of the line graphed below?

NS
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1 (A.3C)

Ve |

SpiralEd Solutions

What is the y-intercept of the line shown below?
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2 (A.3C)

What is the x-intercept of the line shown below?
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3 (A.3A)

What is the slope of the line represented by the graph below?

25

1.5

0.5

|

I

1

—

«

|
Alw ©@
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Spiral 13

1 (A.5A)

What is the solution to—-7x —3(-8x +8) =6(5x—4)7?

AO

B -1

C 4

D 1

2 (A.3A)
What is the slope of the line 4x
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3 (A.3A)
What is the slope of the line that passes through (-4, -2) and (5, -5)7?

© 2017 SpiralEd Solutions
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Spiral 14

1 (A.3B)
The balance on a savings account is shown in the graph below.

Savings Account Balance

600

500

400
L

Savings

300
L

200

3
Weeks

What change on the account balance in relation to the number
ee eposits were made?

F 1 k per 50 deposits G $50 per week
H $150 per week J $25 per week
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2 (A.3B)

The table below shows the relationship between the number of pencils
purchased and the total cost.

What is
A 0.295
C0.44

3 (A.3B)

Number | Total
of Cost
Pencils
4 $1.63
6 $2.07
8 $2.51
10 $2.95

the rate of change for the data showRiin the table?

O @

LEEE@E@EEREE O

LERE@E@®E@EEOE O
LERE@E®E@REE ©
EERE@E®@EEEE O
EEREE®EEEROE O
EERE@E@®E@EREE O
LEEE@EE@EEREE ©
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Spiral 15 -
1 (A.3A)
What is the slope of the line that passes through (-12, -8) and (6, -8)7?

A8
9

B O
C undefined
D 1

2 (A.2D)

In a manufacturing plant a conveyor bglt carri Is from one station
to another. The distance traveled i ectly proportional to the number of

minutes the conveyor belt runs.
minutes, how long will it take to tra

F 30 minutes G

H 28 minutes 4 minutes

3 (A.2D)

The amo rned on a savings account is directly proportional
to the amou y in the account. If $5,000 earns $200 interest, how
muc rned on $8,5007?

25

B
C $3
D $425
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Spiral 16
1 (A.2D)

The cost of web site maintenance varies directly with the number of months
the service is provided. If 22 months costs $935, what is the cost for one
year? Record your answer and fill in the bubbles below.

S 0O000O0
SHONONORONO, ©
ORONONORO) ®
ONONONONE)
ONONO” SNONO)
@ ® ORONONO),
® @ @ ©® 6
® WP ©4 ©
@ @ D @D @
Bg(®)
© 2 AONONO)
2 (A.3B)
A lawn mo e charges $22 per hour plus a service fee of $50. The
total, ha the lawn mowed can be represented by the equation
C=5 re h represents the number of hours worked.
at isthe rate of change for this function?
A i B 22

C 50 D -22
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3 (A.5A)

What is the solution to 0.2(3x +2) =-0.2(-1-2x) ?

FO
G-2

H -1

w K
QO
Q\/

X

© 2017 SpiralEd Solutions




~
Spiralff@ Solutions

Spiral 17

1 (A.2B)

Write the slope-intercept form of the equation for a line that passes through

(-2, -3) with a slope of —%.

A y=—x+2
B ——4x—1
4 2
C y——lx—4
2
Dy=-x-4
2 (A12E)

The formula to convert Cel temperature to Fahrenheit scale is

F=—=-C+32. Use thi§" la ermine the formula to convert

FC=(F
GC-=
= _32)9
5
J ngF—32
)

© 2017 SpiralEd Solutions




SpiralEd Solutions

3 (A.2B)
The point-slope form of an equation for aline is y +4 = %(x +3). This li

has a slope of % and passes through which of the following points

A (-3, 4)
B (3, -4)
C (3,4)

D (-3, -4)

X

© 2017 SpiralEd Solutions
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Spiral 18
1 (A.2B)

A line passes through (0, 4) and (-3, 0). What is the slope-intercept formfof
the equation for the line?

2
F y=4x——
Y 3

4
G y=—x+4
Y73

2 (A.2C)

Which function represe

t oints included in the table?

© 2017 SpiralEd Solutions
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3 (A.12A)

Which statement is true for the graph below?

6

5

W unction, because it makes a line.

s not represent a function, because a vertical line can
hejgraph represents a function, because a relationship can be

nsifucted between the input and output values.

J The graph does not represent a function, because none of the points are
in Quadrant Il or Il

© 2017 SpiralEd Solutions
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SpiralEd)
Spiral 19 |
1 (A.2B)

A line passes through (-3, -4) and (0, 4). What is the slope-intercept formpof
the equation for the line?

8
Ay=—x+4
Y=3

4
By=——x+4
Y773

2 (A.2B)

Write the slope-intercept fo f the eguation of a line with a slope of —%,

and passing through @

3.1
X
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3 (A.2C)

Which function is represented by the graph?

-5 4

-6 1
A f( —4x+2 B f(x)=-2x+2
C f(x)=-2x+4 D f(x)=2x-4

© 2017 SpiralEd Solutions
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SpiralE
Spiral 20
1 (A.2C)
Which function is represented by the graph?

6 E

X

-5 -
-6
=—1x—3 Gf(x)=1x—3
2 2
1 1
H f(x)=§x+3 Jf(x)=—§x+3

© 2017 SpiralEd Solutions
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Ve |

SpiralEd Solutions

What is the slope of the line shown below?

© 2017 SpiralEd Solutions
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3 (A.2C)

An athletic trainer determines that the number of calories needed after a
workout depends on a base amount of 200 calories plus 53 calories for
each minute of weightlifting. Which equation represents the number of past
workout calories required as a function of the number of minutes
weightlifting (m) completed?

F f(m)=200m-53
G f(m)=53m+ 200
H f(m)=53m-200

53m

O
§

© 2017 SpiralEd Solutions
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SpiralEd
Spiral 21 o
1 (A.2C)
Which function represents the points included in the table?
x| -5]-3|] 0|3
y |[-13] -9 | -3 | 3

2 (A.20)
Which function repres hegpointsdfrcluded in the table?
f(x)
-3 | -1
0 -2
1 1
5 13
==3x+2 G f(x)=-2x+3
=2x-3 J f(x)=3x-2

© 2017 SpiralEd Solutions
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3 (A.3B)

The number of calories burned by running is shown in the graph below.

Calories Burned Running, 5mph

300

250

200

150

100

Calories Burned

50

0 5 10 15 20 30

inutes of Run

What is the rate of change of calori ute based on the information

in the graph?

A 10 calories per min

© 2017 SpiralEd Solutions
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Spiral 22 |
1 (A.2B)

Write the slope-intercept for of the equation of a line with a slope of é a
passing through (2, 5).

5
Fy=—-——x
=73

2 (A.2E)

Write the equation of a line@that passe ough (2, 6) and is parallel to
y=-4x+2.

Ay=-4x+14 Q
B y=4x
Cy

2X +

2

© 2017 SpiralEd Solutions
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3 (A.2E)

Write the equation of a line that passes through (3, -2) and is parallel to the
line in the graph below.

3
F y=—x+3
Y72
2
Gy=——x
=73 Q
3
Hy=-——
4 2
J y 2

© 2017 SpiralEd Solutions
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Spiral 23
1 (A.2E)

Write the equation of a line that passes through (2, 2) and is parallel to
2Xx+y=06.

A y=2x-2
B y=-2x+6

2 (A.12B)

If the domain of the function, f(x
included in the range?

F 10
H?2

), isx > -2, which term is not

3 (A.2F)

Write the a ine that passes through (2, 6) and is perpendicular

© 2017 SpiralEd Solutions
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1 T/:;F)

Write the equation of a line that passes through (2, 2) and is perpendicular
to 2x+y =6.

Fy=2x-2
G —1x+1
4 2

1
Hy=—x-3
y 2

Jy=-2x+3
2 (A.2G)

Which of the following lines coul lleltoy =-57?

A A line passing through (-

B A line passing througim(@

ughi(3, 7) with a slope of -1.

C A line passing th

D A line passin

© 201/ Spiraltd Solutions
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3 (A.2F) |

Write the equation of a line that passes through (-2, 6) and is perpendicular
to the line in the graph below.

© 2017 SpiralEd Solutions
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1 (A.2G)

Which of the following lines could be perpendicularto y =-57
A A line passing through (-4, 2) with a slope of 1.

B A line passing through (3, 2) with a slope of 0.

C A line passing through (-5, -5) with an undefined slope.

D A line passing through (3, 7) with a slope of -1.

2 (A2A)

A 1700 gallon swimming pool is bging d
hour. The function, g =1700 —1

gallons at h hours. What is the ran

ined at a rate of 128 gallons per
ws the number of remaining

function?

F {0<y <1700}
G {y <1700}
H {y >0}

J{0>y>1

© 2017 SpiralEd Solutions
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3 (A.2A)
A cheer squad has at least 8 members and no more than 12 members.
Uniforms cost $300 each plus $55 in total shipping cost. The total cost,

of buying uniforms for the squad is represented by the function,
C =300m + 55, where mrepresents the number of members in th

The table shows the total cost for uniforms dependent on th the
squad.

members 8 9
cost $2455 | $2755

What is the range for this function?

A{8>y>12)
B {8<y<12)
C {2455,2755,3055,3355;36

D {2455 < y <36

X

© 2017 SpiralEd Solutions
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Spiral 26 o
1 (A.2G)
Which of the following lines could be parallel to the y-axis?
F A line passing through (-4, 2) with a slope of 1.
G A line passing through (3, 2) with a slope of 0.
H A line passing through (-5, -5) with an undefined slope.
J Aline passing through (3, 7) with a slope of -1.

2 (A.2A)

A 2100 gallon swimming pool is being draine a raie of 150 gallons per
hour. The function, g =2100-150h g8hows the er of remaining

gallons at h hours.

The table shows the amount of wat maifting at two-hour intervals.

hours 0 8 10 12 14

gallons | 1700 900 600 300 0

What is th main\f is function?
A {0 <2

B {x <

< x <14}




SpiralEd Solutions

3 (A.2A)

What is the domain of the discrete function shown in the graph?

[ ] -4

F {all real numbers}
G {-4,-2,0,2,4}
H {-7<x <5} V

J {-7,-4,-12,5}

© 2017 SpiralEd Solutions
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Spiral 27 |
1 (A.12D)

Given the pattern, 5, 8, 11, 14, 17..., which expression could be used to
determine the nth term?

A 3n-2
B 2n-2
C2n+2
D 3n+2

2 (A.3A)

What is the slope of the line y — 3= 2(x&4)? Record your answer and fill in
the bubbles below.

LE@RE@@E@EEEE O
EE@EOE@EEEEE O
EEAE@®E@EEEE ©
EE@RE@@E@EEE O
EE@EE@E@EEE O
EEREOE®EEEE O
OEEPE®EEEEE O

X

© 2017 SpiralEd Solutions




SplralEd Solutions
3 (A.3E) -

A linear function is graphed on a coordinate planef(x) = X. The graph of a

new line is formed by changing the slope of the original line to % and they-

intercept to 5. Which statement about the relationship between thes
graphs is true?

A The graph of the new line is steeper than the grap ig line,
and the y-intercept is translated down.

B The graph of the new line is less steep than ra original line,
and the y-intercept is translated up.

C The graph of the new line is steeper than t raph/0f the original line,
and the y-intercept is translated up.

Y
D The graph of the new line is leg§ stegg'than the graph of the original line,
and the y-intercept is translated d

Q\/
K
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Spiral 28 |
1 (A.3C)
Which graph represents 2x +y =—-4 ?

FS

()

4
ey 0

\ | |
-1

© 201/ Spiralkd Solutions
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2 (A.12D) |

The sum of the interior angles of a triangle is 180°, a quadrilateral is 360°,
and a pentagon is 540°. Which formula could be used to determine the sum
of the interior angles in degrees (d) of a polygon with n sides?

A d=(n+2)180 B d=(n-2)180
Cd=(n—2) Dd=(n—180)
180 n
3 (A.3B)
The table below shows the relationship betw the ngmber of gallons
remaining in a ten-gallon gas tank angythe num iles travelled.
Mile as
Travelle emaiping
5 .75
9.5
20 9
42 7.9

rat change for the data shown in the table?

© 2017 SpiralEd Solutions
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A linear function is graphed on a coordinate planef(x) = x. The graph o

new line is formed by changing the slope of the original line to 4 -
intercept to 3. Which statement about the relationship between
graphs is true?

A The graph of the new line is steeper than the grap
and the y-intercept is translated down.

B The graph of the new line is less steep tha ra
and the y-intercept is translated up.

C The graph of the new line is steeper than theygra f the original line,
and the y-intercept is translated up.

D The graph of the new line is les§,stegp than the graph of the original line,
and the y-intercept is translated do

2 (A.2A)

A cheer squad t 8 members and no more than 12 members.

Uniforms cost $3 s $55 in total shipping cost. The total cost, C,
of buying squad is represented by the function,
C =300m+ m represents the number of members in the squad.
Wha in for this function?
8> } G {8,9,10,11,12}
x <3655} J {x <3655}

© 2017 SpiralEd Solutions
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3 (A.3E) -

A linear function is graphed on a coordinate planef(x) = X. The graph of a

new line is formed by changing the slope of the original line to g and they-

intercept to 2. Which statement about the relationship between thes
graphs is true?

A The graph of the new line is steeper than the grap ig line,
and the y-intercept is translated down.

B The graph of the new line is less steep than ra original line,
and the y-intercept is translated up.

C The graph of the new line is steeper than t rap the original line,
and the y-intercept is translated up.

Y
D The graph of the new line is leg€ stegp'than the graph of the original line,
and the y-intercept is translated d

Q\/
K

© 2017 SpiralEd Solutions
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Spiral 30 |
1 (A.2C)

Which function represents the points included in the table?

X f(x)
-3 11
0 2
1 -1
5 -13

X

© 2017 SpiralEd Solutions
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2 (A4C) o

The graph below shows the relationship between the number of minutes
spent studying for an exam and the student’s score on the exam.

Relationship Between Test Score and Time Spent Studying
120
100 +
[ J
80 +
[ J [ J
v
S °
i’: 60 +o L = 4 @
4 [ J
|_
[ ] [ ]
40 +o ®
[ J
[ ]
20 o
0 y
0 20 100 120 140 160 180 200
Minutes of Study

dels the data?
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3 (A.4C)

The graph shows the relationship between the total weight of a bag of
cookies and the number of cookies in the bag.

Weight of Bag of Cookies Per Number of Cookies
9
8
3 7
% [ )
g ° .
G 5 o
éf’ 4 - °
§ 3 . &
oo
1
0
0 2 4 8 10 12 14
N er of ies in Bag

Which function model a
Fy=05x+2

Gy=2x+2

Hy=1.2

Jy +
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Spiral 31 '”
1 (A.3E)

A linear function is graphed on a coordinate planef(x) = x. The graph o

new line is formed by changing the slope of the original line to 15

y-intercept to —2. Which statement about the relationship bet#e ese
two graphs is true?

A The graph of the new line is steeper than the grapRio Jinal line,
and the y-intercept is translated down.

B The graph of the new line is less steep than the graph of the original line,
and the y-intercept is translated up.

C The graph of the new line is stee
and the y-intercept is translated

than the graph of the original line,

D The graph of the new line is less
and the y-intercept is transfated down.

the graph of the original line,

T avas UMITUILU UVIULIVITID
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2 (A4A) o

Each graph shows a scatterplot with a line of best fit. Which graph shows
the data set with a correlation coefficient closest to one?

© 2017 SpiralEd Solutions
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3 (A.4C) |

The graph below shows the relationship between the number of minutes
spent studying for an exam and the student’s score on the exam.

Relationship Between Test Score and Time Spent Studying

120

100

80
Q
S
Y’_l 60
K
40
20
0 r
0 20 100 120 140 160 180 200
Minutes of Study
Based on t student who needed a minimum score of 80 should
plan dy atlleast how many minutes?
A
60
D 140
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Spiral 32
1 (A4A)

Each graph shows a scatterplot with a line of best fit. Which graph show
the data set with a correlation coefficient closest to one?

F G
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2 (A4B)
A student notices that every time the Fasten Seatbelt sign on the plane
comes on, the flight becomes bumpy. What is the best conclusion basedon
this information?
A The lighted seatbelt sign causes the flight to become bumpy.
B The bumpy flight causes the seatbelt sign to light.

C There is no association between the two events, a h en to
occur around the same time.

D There is an association between the two ev Ybu ot prove

§V
v
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3 (A.3C) |
Which graph represents 2x—y =47
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Spiral 33
1 (A.4B)

Rain fell all morning on Tuesday and into the afternoon. At 3:00 PM the rain
stopped and the sun came out, just as the mail carrier rang the do
What is the best conclusion based on this information?

A No conclusion can be drawn on a single event.

B There is an association between the rain stopping ailRearrier
ringing the doorbell.

C The mail carrier ringing the doorbell cause in

D This association only exits in Texas.

2 (A2A)
What is the range of the diggrete func own in the graph?
4 ®
2 ®
eal numbers} G {-4,-2,0,2,4}
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3 (A.4B)

A scientist observed that when Fungus A was added to Bacteria A, the
bacteria was dead within 24 hours. She repeated the experiment numer@us
times, maintaining a control group of bacteria to which she did not add t
fungus. The control group lived, and the treated group all died. W

best conclusion based on this information?

A There is no correlation between the addition of the fungu death

of the bacteria.

B There is an association between the addition of the and the death
of the bacteria, but no causation is established.

C There is evidence indicating that the fungu§ may cagse the bacteria to
die.

D There is an association between
of the bacteria, but no evidence

addition of the fungus and the death
ion or causation exist.
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1 (A.3B)

The graph below shows the distance hiked in miles in relation to the
number of hours spent hiking.

Hiking Trip

45

40

35

Miles Hiked

6 8 10
Hours Hiked

12

Wha f change for the data shown in the table?
6 G2
7
13 48
19
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2 (A.5B) o
Which inequality describes all the solutions to 6 -8x > x+177 ?
A x <17
B x>-17
C x<-19
D x <21

3 (A.5B)

Which inequality describes all the solutions toS&(x — 4)> —-x -4 7?
F x<18

G x<22

H x<-8

J x>12

X
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Spiral 35
1 (A.5B)

Which inequality describes all the solutions to 54 — x >10-5x?

A x>10 B x>-11
C x<-11 D x>-15
2 (A.3D)

The graph below shows the function, y = _73 +2.

t would be included in the function y < _TBX-F 27

) G (-1, 4)
H (4,1) J(-4,-1)

© 2017 SpiralEd Solutions




Spirak@ Solutions
3 (A.2D)

The amount of interest owed each month on a fixed rate mortgage varies
directly as the current balance. If the balance for one month is $65,000 ahd
the interest owed is $1430, what is the amount of interest owed five yea
later when the balance is $48,000? Record your answer and fill in

bubbles below.

O @

@QEPO@E@EEE O

ROY@@EGEEE O

@EORDOEEE O
L@@

Fo MEE@EOO O

CREADE@E®EE O
LEREE@EEEEE

<

© 2017 SpiralEd Solutions




] .r‘ |
( i
Splral@ Solutions
Spiral 36
1 (A.3D)

The graph below shows the function, y =3.

6

5

4

& =
2
;
: 4 5 6
oulg be included in the function y > 37
2, G (-2,-3) H (3, 2) J(3,-2)
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SplralEd Solutions

Which graph represents -2x +y =47
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3 (A.3D) -

Which function is represented by the graph below?

F x-4y > G x—-4y >-8
Jx-4y <-8
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Spiral 37
1 (A.3D)

The graph shows the function y = %x -4,

¥ld not be included in the function, y > %x—4?

B (1, 5)
D (5, 1)
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2 (A.3D)

Which inequality is shown in the graph below?

G y<-3x-2

Hy< Jy<-3x+2
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3 (A.2H)

A student must score at least a 78 on her algebra test to maintain her B
average. If each correct response, r, on the test is worth 3 points, write
inequality showing the relationship between the number of correct
responses and her score.

A f(r)<78+3r
B f(r)<78-3r
Cf(r)=78-3r
D f(r)<

r

3(78 - r)
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Spiral 38
1 (A.2H)

Which inequality is shown in the graph below?

F <%-2 Gf(x)<-x-2

>—X+2 J F(X)>—x+2
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2 (A.2H)

Which inequality is shown in the graph below?

B 4

5 -

-6 2 3
1 1
f( ——X+2 Bf(x)Z——x+2
2 2
1 1
Cf(x)<—§x+2 Df(x)£—§x+2
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3 (A.3F)
Graph the system of equations and determine its solution.
1
=—Xx-4
4 4
y=—x+1
F (-3, 4) G (3, -4)
H (4, -3) J (-4,3)
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Spiral 39

1 (A.3F)

Graph the system of equations and determine its solution.
y =-6x+2
y=-x-3

A(1,4) B(1,-4)
C (4, -2) D no solution
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2 (A.3F)

Which graph can be used to find the solution to the system of equations

below?
2x-y=3
2x+y =1

4
3
1
0 1 2 3 4
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3 (A.21)

A rental car company charges a flat rate of $80 plus $0.70 per mile, while
another company charges a flat rate of $60 and $0.90 a mile. Which
system of equations could be used to determine at how many miles the
charges for both companies would be the same?

A f(x) = 0.9x + 80
f(x) = 0.7x + 60

B f(x) = 0.9x - 80
f(x) = 0.7x — 60

C f(x) = 0.9x + 60
f(x) = 0.7x + 80

D f(x) = 90x + 80
f(x) = 70x + 6

X
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1 (A.3C)

SplralEd Solutions

Which graph shows a line with an x-intercept of -47?
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2 (A2l)

A jar contains a collection of nickels and quarters with a total of 21 coins.
The value of the coins equals nine dollars. Which system of equations
could be used to determine the number of nickels and the number of
quarters in the jar?

An=21-q Bn=21+q
0.05n +.250 =9 0.05n +.250 =9

Cn-g=21 Dn+qgq=2
0.05n + .259 =9 0.05n = 9 +.

3 (A2l)

The total weight of two dogs is 20. ifference in their weights is
12.8 kg. Which system of ations c e used to determine the weight

of each dog?
Fy=-x+20.6 ; Gy=-x-20.6

T

y+x=1 y=x-12.8
Hy= Jy=-x+20.6
= 0.6 y=x-—12.8

© 2017 SpiralEd Solutions




SpiralEd Solutions
Spiral 41 o
1 (A.4C)

The graph shows the relationship between the total weight of a bag of

cookies and the number of cookies in the bag.

Weight of Bag of Cookies Per Number of Cookies

| \g/

Weigt of Bag of Cookies

12

14

UE I
ofibe determined from the data given

ces

0 6 8 10
Number of Cookies in Bag
Wha eight of the bag before cookies are added?
o]
2
D the initial weight depends on the number of cookies
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2 (A.3D) o

The graph below shows the function, 2x -y =4 .

3

Which point would not be includ nction,2x—y <47

F(-2,2) G(-2 -2) H (2, -2)

3 (A.21)
A jar contains a ctiam, of nickels and dimes with a total of 15 coins. The
value of the coins s $5.10. Which system of equations could be used

to determi ber of nickels and the number of dimes in the jar?

A1 B15+d=n
5d= 5.1 -0.1n 0.05n=5.1-0.1d

—d=n Dd-15=n
0.05n =5.1-0.1d 0.05n=5.1-0.1d
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Spiral 42
1 (A.2l)

The sum of two consecutive even numbers is 158. Which system of
equations could be used to determine the two numbers?

Fx-y=158
y=x-2

Gx+y=158
y = 2X

Hx=158 +y
y=x+2

Jx+y=158 V
y=x+2

2 (A.5B)

Whi uali
N
<&1

0

escribes all the solutions to 2+ x > —(x+4)?
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3 (A.2])
Write the system of equations represented by the graph below.
4
yzgx—4 y=—x+4
Fo9 G
y= " y= " X—-95
9 9
y—%x+4
J 9
y=—x-5

© 2017 SpiralEd Solutions




Spiral@ Solutions

Spiral 43

1 (A.3A)

What is the slope of the line represented by the table below?

-3 4
-1 4
1 4
3 4

A undefined

B 4

co

p_3

4

X
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2 (A.3G)
The cheer squad is selling t-shirts. There is a $100 customized logo fee
and each t-shirt costs the squad an additional $8. They plan to sell the

shirts for $15 each. Use the graph below to determine how many shirts
they must sell to begin to make a profit.

280

260

240

220

200

180

160

140

120

100

80

60

40

20

8 10 12 14 16 18 20 22 24 26 28

F atle S

G at least 15 shirts
at least 200 shirts
east 210 shirts
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3 (A.3G)

The band is selling salsa. Each jar of salsa costs the band $2.25 with a flat
rate shipping and handling charge of $85. They plan to sell the salsa for@6
per jar. Use the graph below to determine the minimum number of jars o
salsa they must sell to begin to make a profit.

280

260

240

220

200

180

160

140

120

100

80

60

40

20

0

A at leaSt 140
at least 22
east 135

D at least 23
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Spiral 44
1 (A.2B)

Write the slope-intercept for of the equation of a line with a slope of -2, and
passing through (-3, -5).

F y=-2x-1
G y=-11x-2
H y=-2x-11

J y+4=§(x+3)

2 (A.3D)

The graph below shows the functi =-2.

inequality would include the point, (2, 4)?

A x-y>-2 Bx-y>-2 Cx-y=>2 D x—-y<-2
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SpiralEd‘ Solutions

Balloon A is released from an altitude of 50 meters and gains altitude at a
rate of 10 meters per second. Balloon B is launched at sea level and ga
altitude at a rate of 15.5 meters per second. Use the graph below to
determine which statement is correct.

alloons both reach a height of approximately 140 meters at 9
secaomds after launch.

J At ten seconds after launch, Balloon B is approximately 30 meters higher

than Balloon A.
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Spiral 45

1 (A.5C)

What is the solution to this system of equations?
13x+11+y =0
3x=3-3y

A (-2, 0) B (9, -3)

C(-1,4) D (-1, 2)

2 (A.5C)

What is the solution to this system ofg@quations”

6 =
F no solution -1, 2)
H (5 7) J infinitely many solutions
3 (A.50)

icket sales for the spring play, a student sold 7 adult
kets d tickets for a total of $82. On the second day of sales the
Id 7 adult tickets and 6 child tickets for a total of $94. What is the
for one adult ticket and one child ticket?

t $5: child $3 B adult $10; child $4
C adult $5; child $4.50 D adult $8; child $4
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Spiral 46 |
1 (A.5C)

A bag contains 39 coins, all nickels and quarters. The total value of the
coins in the bag is $6.35. How many of the coins are nickels? Record yo
answer and fill in the bubbles below.

Fo0rePEROG O
CECE@EEEOO O
CEQEEEHPEG o
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2 (A.3F)

Spiral@ Solutions

Graph the system of equations and determine its solution.

5
=—Xx+3
4 4

A (3,
3, -4
G
(o)

lution
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SpiralEci’ Solutions

Which graph represents the system of inequalities?

2x—y >-3
X+y=>4

N
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1 (A.3H)

SpiralEd Solutions

Which graph represents the system of inequalities?

X+2y <4
X—-y<3

=5
D =
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2 (A.3C) |
Which graph represents 2x+y =47

/ﬂ)
15 25 3

F
4.5
\ (0.4)
15
05
20
25
-05 \
H J
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3 (A.3H)

Which graph represents the system of inequalities,
X+y>2
X—y>-2
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Spiral 48

1 (A.2C)

The cost of renting a banquet hall requires a flat rate cleaning fee of $22
dollars and $75 dollars for each hour rented. Which equation repr
the total cost of the rental as a function of the number of hours d,

F f(h)=75h + 225
G f(h)=225h+75
H f(h) = 225(h + 75)
J f(h)=T75(h + 225)

2 (A.2A)

The domain for the function, f(x
following is not part of the range?

3,is{-7,-5,1,3,9} . Which of the

A11
B17
C-3
D 1
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3 (A.10B) |

The diagram shows the dimensions of a rectangular pool. All dimensions
are given in feet.

6x +5

6x - 1

Which expression represents the area of the p
F 36x? + 24x -5
G 36x%2 + 36x—5

H 36x2—-24x + 5
J 36x2 —24x -5
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1 (A.4B)

A botanist observed that plants growing in a lab with no music grew mor
slowly than the plants growing in another lab with music playing.

concluded that the music caused the plants to grow more quic
the best analysis of her conclusion?

A Her conclusion is invalid, because her observation inye e than
one variable due to possible differences between the

B Her conclusion is valid, because her experiment s
association between plant growth and music.

C Her conclusion is valid, because she is a anist and made her
observations in a lab.

D Her conclusion is invalid, beca shegdid not maintain control over the
type of music being played.

2 (A.5C) V

What is the sol t system of equations?

F (8,
-4,

10)

xX—4y =72
8y -136+33x=0
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3 (A.3G)
Hiker A starts hiking from a campground 2 miles from the trailhead and
hikes at a rate of 3.2 miles per hour. Hiker B starts from the trailhead an

hikes at a rate of 4.1 miles per hour. Approximately where does Hiker B
pass Hiker A?

12

[10

A Hiker B overtake @ abo miles from the trailhead.
B Hiker B never a Hiker A.

C Hiker B ak
D Hiker Ao

X

r A about 8 miles from the trailhead.

iker B about 2.25 miles from the trailhead.
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1 (A.10B)

The diagram shows the dimensions of a rectangular garden. All dimensi

are given in feet.

7X-5

Which expression
F 35x2 + 53x — 20
G 35x2 + 3x — 20
H 35x2 - 3x + 20
K 35x2 - 3x - 20

2 (A.12E)

are

e |

‘)

SpiralEd Solutions

S

5x + 4

represents the area of the{@arden inffsquare feet?

1+2

jan of a trapezoid is m = . Using this

the formula for finding b,, when the median and b,

B b —2M
b2
Db =2m-b,
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3 (A.10B)

Which expression is equivalent to (3x — 8)(x + 7)?
F 3x%2 - 13x — 56

G 3x? — 13x + 56

H 3x% + 13x — 56

J 3x% + 13x + 56

%

X
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Spiral 51 N~
1 (A.10E)

Which expression is equivalent to x? + x — 567
A (x=T7)(x +8)

B (x—2)(x + 28)

C (x + 2)(x - 28)

D(x+ 7)(x +8)

2 (A.2])

At a local bake sale, pies sell for $8
Friday, a total of 37 cakes and pi
system of equations can be used

and the number of pies sold on Frida
F 8p + 10c = 37
p+c=326 Q

G 8p + 10¢= 326

p+cC=

ch, and cakes sell for $10 each. On
old for a profit of $326. Which
ine the number of cakes sold

Op BEC = 326
37

J 8p + 10c = 326
c=37+p
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3 (A4A) |

Each graph shows a scatterplot with a line of best fit. Which graph shows the data set
with a correlation coefficient closest to zero?
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Spiral 52 |
1 (A.2F)

Write the equation for a line passing through (4, 2) and perpendicular to
2x+3y =-9.

2 3
Fy=——x+1 Gy=—x+3
Y773 ar
2 3
y 3 + y 5
2 (A.10E)

Which expression is a factor of x2 + 13x + 367
A (x-9)

B (x +4)

C (x+12) V

D (x + 6) Q

3 (A.10E)

J(x+2)(x+18)
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1 (A.2E)

Write the equation for a line passing through (3, 3) and parallel to
2x+3y =-9.

2 3
Ay=——x+1 By=—x+3
=73 Y =3

Cy=§x+5 Dy=—x

2 (A.10E)

Which expression is a factor of x2 + 4~ 5?

F(x+1)
H (-1 -x)

3 (A.10E)

Which expressio ent to x2 — 11x + 247

A (x = 3)(x

B (x 4)
X + -12)
—24)(x—1)
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Spiral 54
1 (A.3B)

The graph below shows the number of gallons of water remaining ina 5
gallon tank as it is being emptied.

Water Remaining

60

50 @<

30

GALLONS REMAINING
/

20

10

MINUTES

10

ange for the data shown by the graph?

J 4
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2 (A.10F)
Which expression is a factor of 81x? — 367
A (9x + 4)
B (9x — 6)
C (4x —9)
D (9x + 3)

3 (A.10F)

Which expression is a factor of 121x2 — 4?
F (11x-2)

G (11x + 4)

H(11x = 1)
J (11x + 1)
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Spiral 55
1 (A.10F)

Which expression is a factor of 49x? — 167

A (7x-2) B (7x +4)
C (7x - 8) D (7x + 8)
2 (A.10F)

Which expression is a factor of 16x? — 144?

F (8x—12) G (4x+7

H (4x — 12) @)

3 (A.3A)

What is the slope of re ed by the table below?
X y
-3 4
-3 6

v -3 8

-3 10

A undeéfined B -2

(o0) D-——
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Spiral 56 o
1 (A.7A)
A graph of f(x)=4x*-8x -4 is shown on the grid.

What is the y-intercept of f?

F -4
G -0.41
H 1
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2 (A.2H) o

A cheer squad has a budget of $3,500. They purchase 12 megaphones at
$65 each. Write an inequality showing the relationship between the
remaining amount in their budget and the amount of money (m) they ca
spend for each of 12 uniforms.

A f(m) < 3500 — (12m —780) B f(m)<3500—(12m+ 78
C f(m) <3500 —(12m + 65) D f(m)<3500-12

3 (A.7TA)
A graph of y = x* +4x is shown on the grid.

What are the x-intercepts of this function?
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Solutions

SpiralEd
Spiral 57 |

1 (A.7A)

A graph of y = x* —3 is shown on the grid. What is the axis of symmetry
this function?

@

IS

w

[S)
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2 (A7A) |

A graph of f(x)=-x?-2x+3 is shown on the grid. The coordinates of t
x-intercepts, the y-intercept, and the vertex are integers.

What is the maximum value of f ?

7777777777

Record your answe

@

O @

LEAE@E@EEE O

LEEOEE@EWEEE O
LEPE@E@EEEE O
LEEE@E@EEE O
LEEE@E@EEE ©
CEAE@EEEEE O
CEEREE®E@EEOE O
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3 (A.2l)
Write the system of equations represented by the graph below.
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Spiral 58 |
1 (A7A)

A graph of f(x)= x* +4x is shown on the grid. The coordinates of the x-
intercepts, the y-intercept, and the vertex are integers.

What is the minimum value of f?

Record your answer. Mles below.

O @

LEAE@E@EEE O

LEEOEE@EWEEE O
OEPE@E@EEEE O
LEPE@@E@EEE ©
LEEE@E@EEE ©
CEAE@EEEEE ©
CEEREE®E@EEOE O
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2 (A.7C) |

Quadratic functionsf and g are graphed on the same coordinate grid. The
vertex of the graph of f is 5 units above the vertex of the graph ofg.
Which pair of functions could have been used to create the graphs of f and
g?

A f(x)=x*+4 and g(x)= x*

B f(x)=2x* and g(x)=x*
1.2 2
C f(x)=§x and g(x)=x

D f(x)=x*-4 and g(x) = x*

3 (A.7C)

n the same coordinate grid. The
the vertex of the graph ofg.
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Spiral 59 o
1(A7C)

Quadratic functionsf and g are graphed on the same coordinate grid. T
vertex of the graph of f is wider than the graph ofg. Which pair
functions could have been used to create the graphs of f and

Af(x)=3x* and g(x) = x? B f(x)=x*-3 an

C f(x)=%x2 and g(x)= x* D f(x)=x*+5a

2 (A2A)

What is the domain of the linear f ion shown in the graph?

3 GO0<x<7

y<7 J-4<y<3
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3 (A.7C)

Quadratic functionsf and g are graphed on the same coordinate grid. The
vertex of the graph of f is wider than the graph ofg . Which pair of
functions could have been used to create the graphs of f andg ?

A f(x)=x*+8 and g(x) = x*

B f(x)=x*>-2and g(x)= x?
C f(x)= %xz and g(x)= x*

D f(x)=4x* and g(x)= x*
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1 (A.2l)

Write the system of equations represented by the graph below.

4

y=§x—6 §x+6
= 3 3
5 5
y==x+9 y=-x-9
3
y—gx—G
H no system sh J 3
y —§x+9

2 (A1
expression is a factor of x2 + 13x + 407?
) B (x+5)

C (x-5) D (8 —x)

© 2017 SpiralEd Solutions




SpiralEd Solutions
3 (A.3C) |

Which graph shows a line with a slope of -27?

4
3
2 2
1
-
0 1 3 4 iy 7 ¥ % )
-1
-3
F G :
4
3
2
1
o
1 0 1 3 4
4 |
-3
J 4
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Spiral 61 o
1 (A.7A)
A graph of f(x)=4x*-8x—4 is shown on the grid.

What is the axis of symmetry of f?

Q
5
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2 (A2A) |

What is the range of the linear function shown in the graph?

N O

F-4<x<3

HO<y<7

3 (A.7C)

Quadratic nd g are graphed on the same coordinate grid. The

>+5 and g(x) = x* B f(x)=x*-5 and g(x) = x?

=%x2 and g(x)= x> D f(x)=2x* and g(x)= x>
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Spiral 62

1 (A.5B)

Which inequality describes all the solutions to-31.2 > 2.4(-2.9 + x)?
F x<-23

G x>-87

H x>12.4

J x<-10.1

2 (A.7A)

A graph of f(x)= x*+4x is sho n the grid. Which of the following is a
root of this function?
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3 (A.8A)
What are the solutions to x* +9x =-18?
F x=-6 and x=-3

G x=5and x=0

H x=—£and x=0
5

J x=-10++149 and x=-10-/149

%
S
X
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Spiral 63

1 (A.3A)

What is the slope of the line represented by the table below?

-3 10.25
1 7.25
5 4.25
7 2.75
A-3 B -2
C -0.25 _3
2 (A.5C)

What is the sol system of equations?

xX+y=-4

Sx -y =-2
F (9 -4)E G (-1, -3)
(3, J (8, -10)
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3 (A.7C) |

Quadratic functionsf and g are graphed on the same coordinate grid. The
vertex of the graph of f is 8 units above the vertex of the graph of g.
Which pair of functions could have been used to create the graphs of f and
g.

A f(x)=x*+8 and g(x) = x*

B f(x)=x*>-2and g(x)= x*
C f(x)= %xz and g(x) = x*

D f(x)=4x* and g(x)= x*
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1 (A.3B)

f"“%ﬁ

SpiralEd Solutions

The table below shows the relationship between the number of calories
burned and the number of minutes spent playing tennis.

Minutes | Calories
Burned

4 3.84

6 5.76

12 11.52

25 24

What is the rate of change for the shown in the table? Record your
answer and fill in the bubbles be

EEAEOE@EEEE O
OEAE@®EEEE O
CEAE@®E@EEEE ©
EEA@G@E@EEE O
LE@EE@E@EEE ©
EEAE@EEEEE ©
LEEE@®EEEE O

& UL/ opHdliLu SUIULIVIID
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2 (A.7C)

Quadratic functionsf and g are graphed on the same coordinate grid. The
graph of f is reflected over the x-axis from the graph of g. Which pair
functions could have been used to create the graphs of f and g ?

A f(x)=x*>+8 and g(x) = x*

X2

B f(x)=x*>-2and g(x)
C f(x)=%x2 and g(x) = x*

D f(x)=-x*and g(x) = x*

3 (A.8A)

What are the solutions to x? +20x —

F x=-6 and XQV

G x=5and x=0

H x=—i d x=
5

J Xv and x =-10-+/149
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1 (A.8A)

What are the solutions to x> -5x =07

A x=-6 and x=-3 B x=5and x=0
Cx=—%and x=0 D x=-10++/149 and x=-10
2 (A.8A)

What are the solutions to x(5x+4)=07

F x=-6 and x=-3

Hx=—%and x=0 and x =-10-+/149

3 (A.10E)

Which expressio quivalent to 7x? — 2x — 5?
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Spiral 66 |
1 (A.3D)

Which inequality is represented in the graph below?

-3
-5
F y<2x-1 :

G y<2x+1 QV

Hy>2x-1

Jy>2x+
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2 (A.8B)

The path of a football kicked downfield can be represented by the quadratic
function shown in the graph below (where x is the horizontal position in

yards and y is the height in yards). Approximate how far downfield the b
will hit the ground.

A 50 yards
B 14 yards V
C 46 yards
D 42 yards

?\
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3 (A.2])

Write the system of equations represented by the graph below.

)

o1 2 3 4 5 6 7 8 9

6 5 -4 -3 -2 -1

13x+7y =49

2x—-Ty =56

9x -7y =49 13x+7y =56
2x+ 7y =63 2x -7y =49
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Spiral 67
1 (A.7C)

The graph of f(x)= x* is shown on the grid.

777777777777

Which statement about the relatio betwéen the graph of f and the
graph g(x)=4x> of is true

A The graph of g is r than graph of f.

B The graph of han the graph of f.

C The graph of g nits’below the graph of f.

D The graph units above the graph of f.
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2 (A.3C)

SplralEd Solutions

Which graph shows a line with a slope of—% ?

© 2017 SpiralEd Solutions




SplralEd Solutions
3 (A.8B) -

A ball is thrown from ground level upward at an initial velocity of 60 ft/sec,
The ball’s path can be represented by the quadratic function shown in t
graph below, with the y-axis showing the ball’s altitude in feet, and the x-
axis showing the time in seconds. What is the ball’s approximate '
altitude?

60

55

50

45

40

35

30

25

20

15

10

A 56.5 feet
2 f
C 3.5 feet

D 58 feet
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Spiral 68
1 (A.7B)
Which statement about g(x)= x> —6x — 40 is true?
F The zeros are -4 and 10 because g(x)=(x+4)(x—-10).
G The zeros are 4 and -10 because g(x)=(x—-4)(x+10).

H The zeros are 4 and 10 because g(x)=(x —4)(x —4C

J The zeros are -4 and -10 because g(x)=(x <40
2 (A.10E)

Which expression is a factor of x4= 1 327

A (x + 16) B (x-—

C (x + 4) V

3 (A.7B)

Which state t f(x)=x>+12x+32 is true?

and 8 becausef(x)=(x+4)(x-38).

Thezeros are 4 and 8 becausef(x)=(x—-4)(x-8).

J The zeros are 4 and -8 becausef(x)=(x—-4)(x+8).
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Spiral 69
1 (A.2C)

What function is represented by the graph?

G x=-7and x=8

1+\/9_7
4

J X and x =

© 2017 Spiralkd Solutions
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3 (A.7A)

A graph of y = x* —3 is shown on the grid. What is the vertex of this
function?

4
3
2
1
0
6 -5 -4 3 2% -1 Jo 1 f2 3 4 s
-1
2
-4

A (0, -3)
B (-2, 1)

C (2, 1)
D (-3, 0)
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Spiral 70

1 (A.2G)

Which of the following lines could be perpendicular to the y-axis?

F. Aline passing through (-3, 2) with a slope of 1.

G A line passing through (2, -2) with a slope of 0.

H A line passing through (-4, -5) with an undefined slope.

J A line passing through (3, 4) with a slope of -1.

2 (A.8A)
What are the solutions to x> — x—-56=07?
A x=-3and x=5

B x=-7and x=8

C x=—gand x=0
5

1+\/§a

4

D x=
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3 (A.3H)

Which graph represents the system of inequalities?
2x+y=>3
X+y<4

© 2017 SpiralEd Solutions




Spiral 71
1 (A.21)

- |

Ed) Solutions

SpiralE

Write the system of equations represented by the graph below.

9x +5y =-20
2x -5y =-35

o = ~ w B @0

12 -1 10 9 -8 -7 -6 5 -4 -3)-z2 0 1

-5y =-20
2x+5y =-35
59x +9y =-20
5x -2y =-35

ain of the function, f(x)=-2(x+7)-2, isx <—1, which term is
d in the range?

G8
JO
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3 (A.5C)
What is the solution to this system of equations?
—6y +5x =-48
1
-y =-1+ §X
A (3,-9)
B (-12,7)
C (-6, 3)
D (5, 8)

%

X
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Spiral 72 |
1 (A.2A)

What is the domain of the linear function shown in the graph?

F-4<x<3

H-4<y<3 J-3<x<0.5
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2 (A.8B)

A rock is thrown upward from ground level with an initial velocity of 50
ft./sec. The rock’s path is represented by the quadratic function shown i
the graph below, with the y-axis showing the rock’s altitude in feet, and t
x-axis showing the time in seconds. Approximate when the rock wi
ground.

econds

C 5 seconds

D 1.55 seconds
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3 (A7.C)

The graph of f(x) = x* is shown on the grid.

777777777777

Which statement about the relationship bet n the graph of f and the

graph g(x)=§x2 of is tru

is 3 units above the graph of f.
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Spiral 73 '”
1 (A.6B)

Write the equation for a quadratic function with a vertex at (0, 0) and
passing through (-2, 8).

A y=2x° B y=2x*+1
C y=-x"+1 D y=3(x-2)
2 (A.7B)

Which statement about h(x)= x> +16x + 60

F The zeros are 6 and 10 because h(x)=(x —

p—

G The zeros are 6 and -10 beca (x—=6)(x+10).

H The zeros are -6 and -10 because X+6)(x+10).

J The zeros are -6 an ecause )=(x+6)(x-10).
3 (A.7B)
Which stat t f(x)=x*+4x-32 is true?

and 8 becausef(x)=(x+4)(x-8).

The'zeros are 4 and 8 becausef(x)=(x—-4)(x-8).

D The zeros are 4 and -8 becausef(x)=(x—-4)(x +8).
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Spiral 74
1 (A.8A)
What are the solutions to x(5x+2)=07?
F x=-3and x=5

G x=-7and x=8

H x=—gand x=0
5

and x =

2 (A.6B)

Write the equation for a quadratic fungtiongwith a vertex at (0, 1) and
passing through (-1, 0).

A y=2x° y =2x*+1

C. y=—x*+1 D y=3(x-2)

H y=3x*+12x-12
J y=9x"-36x+36
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SpiralEd)
Spiral 75 |
1 (A6C)

Which of the equations below does not describe a function with solution
4 and -27?

A y=2x*-4x-16 B y=x"-2x-8
Cy=(x-1°-9 Dy=(x-2P-4
2 (A.6C)

Which equation has the same solutions as ySy(x-2)7-47?
Fy=x"-4x

Hy=x*-12x+6

3 (A.3A)

What is the slop he
A2
3

C38 D-8
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1 (A.7C)

......

The graph of f(x)= x* is shown on the grid.

Which statement about the relatio betwéen the graph of f and the

777777777777

graph g(x) = x* -3 of is true?

F The graph of g is n r graph off.

G The graph of
H The graph of g

J the graph

han the graph of f .
nits’below the graph of f.

nits above the graph of f.
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2 (A.10B)

Which expression is equivalent to (4x — 8)(8x — 4)?
A 32x%> —80x + 36

B 32x? - 32x — 80

C 32x2-80x—56

D 32x2 - 80x + 32

3 (A.6A)

The table shows some ordered pairs that bel@ng to quadratic function g.

What is the range of g? ;
x
-4 14
2
0

-2
2 2
4 14

all r umbers}
umbers greater than or equal to -2}
H {all#¢eal numbers greater than or equal to -4}

J {all real number greater than or equal to 0}
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Spiral 77
1 (A.6A)

The table shows some ordered pairs that belong to quadratic function g.

What is the range of g?

X y
-4 12
2 0
0 4
2 0

A {all real number greater than or e

B {all real numbers greater or equal to -2}

C {all real numbers @ an qual to -4}
D {all real numb
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2 (A.7B)

Which statement about g(x)=—-2x>—-5x +42 is true?

F The zeros are g and -6 becausef(x)=—-(2x-7)(x+6).
G The zeros are % and 6 because f(x)=—-(2x-7)(x—6).
H The zeros are —% and -6 because f(x)=-(2x+7

J The zeros are —% and 6 becausef(x)=—(2x +7)(x®06).

3 (A.6A)

What is the domain of the n represented by the graph

below?
A x>-3 By<5
C -3<x<2 D -3<x<?2
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Spiral 78 o
1 (A.6A)
The table shows some ordered pairs that belong to quadratic function g.

What is the range of g?

X -2 -1 0 1

y 4 -1 4 5

F All real numbers

G All real numbers greater than or equal to -
H All real numbers greater than or equal to -

J All real number less than or equal 1@>-5

Q\/
K
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spiralEd

2 (A.21)
Write the system of equations represented by the table below.
X Y1 y2
-3 5 -1
-1 1 1
1 -3 3
3 -7 5
Ay=—-2x—1 By'——2x—
y=Xx+2 yex+1

cy=—2x—1 y=_§x—1
y=x-2 X+ 2
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3 (A.6A)

What is the domain of the quadratic function represented by the graph
below?

F 2<x
G 2<y<
H -2

-3<Y¥< 2

© 2017 SpiralEd Solutions




SpiralEd Solutions
Spiral 79
1 (A.11A)
Simplify V12
A 23
B 342

C term cannot be simplified

D 43

2 (A.11B)

Which expression is equivalent t

F 2x*y®

H 2x'y™ x'y

3 (A.11A)

Simplify /48 .

A 4

D 34
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Spiral 80
1 (A.11B)
(4xyz*)°
Which expression is equivalent to ———— ?
Xy
26
F 12y°z
X
2_6
G 64y“z
X
5
H 12yz
X
5
J 64yz
X
2 (A.11B)
4,32
Which expression ivalent to 4x {32 ?
3x°z
4 4x°y°
A 3 B >
N D 4x°y*
3 32
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3 (A.10C)

The diagram shows the dimensions of a rectangular wall. All dimensions
are given in feet. The area of the wall is represented by the expression,
36x2 + 24x — 5.

6x - 1

What is the length of the missing side?
Fo6x+5

G9x -5
Ho6x +4
J 5 -06x V
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Spiral 81

1 (A11A)

Simplify /162 .

A 82

B 812

C 92

D 2.9

2 (A.11B)

Which expression is equivalent to

4x"y?

F
3z*

4x"y?

G
32°
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3 (A4A) |

Each graph shows a scatterplot with a line of best fit. Which graph shows the data set
with a correlation coefficient closest to one?
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Spiral 82
1 (A.11B)
X—2y4
Which expression is equivalent to V2 ?
2y? 2y°
F x?z? G x?z?
y’ 2y°
H—— J =L
2x°z* 2x°z°
2 (A 11A)
Simplify /288 .
A 212 B
C 28 242
3 (A.11B)
3.4
Whichyexpres IS*€quivalent to 3X2 { i ?
4x°y°z
3 Xy 3y
F G
4x°z
3
5 J 5yZ
4x°z 4x°z
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Spiral 83

1 (A.9D)

The graph of an exponential function is shown on the grid.

|

f

)

Based on the graph,
A The value of f

B The graph cros e
C The y-int
D Th

t e bout the function is true?

xis at -7.
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2 (A.9B) o

Compound interest on an account can be determined using the formula,
A=P(1+r)", where A is the future value, P is the beginning principle, ri
the constant rate of change, and t is the time in years. A banker used th
formula, A =5000(1+0.02)%, regarding an account.

What is the interest rate on the account?

F 1.02% G 102%
H 2% J 0.02%
3 (A.9D)

The graph of an exponential functign i own on the grid.

sed an the graph, which statement about the function is true?

e value of f(2) = 0. B The graph crosses the x-axis at -7.

C The y-intercept is -1. D The value of f(1) = 4.
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e

The exponential growth rate for bacteria can be determined by the formula,

A = Pk', where A is the final amount, P is the beginning amount, ks the
constant rate of change, and tis the time. A biologist used the formula,

500 = 20(2)', regarding a strain of bacteria.

The biologist wanted to determine...

F the constant growth rate of the bacterial culture.

G the time at which the colony would reach a populatie

H the time at which the colony would double j

initial poptite

J the size of the population after 20 minutes.

2 (A.9B)

Compound interest on an
A=P(1+r),where A i

the constant rate of @
formula, A=50 0.02)°

For how long wa

etermined using the formula,
e, P is the beginning principle, ris

, regarding an account.
2y invested?

A 2 years
B8

C 12 S
D e
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3 (A.9C) |

The table contains some points on the graph of an exponential function.

02| 4 6 8
18 | 162 | 1458 | 13122

Based on the table, which function represents the sa
F f(x)=2(2)"

G f(x)=3(2)"

H f(x) = 2(3)"
J f(x)=3(3)" @
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Spiral 85
1 (A3C)

Which graph shows a line with a y-intercept of 47

B
D 4
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2 (A.3E)

A linear function is graphed on a coordinate plane, f(x) = X . The graph of

a new line is formed by changing the slope of the original line to -1 and t
y-intercept to -1. Which statement about the relationship between these two
graphs is true?

F The graph of the new line moves downhill from left to right he
graph of the original line moves uphill from left to righ ysihtercept
is translated down.

G The graph of the new line moves downhill ffom left @ right while the
graph of the original line moves uphill from le rightfand the y-intercept
is translated up.

H The graph of the new line moves
of the original line moves nhill fro
translated down.

left to right while the graph
to right, and the y-intercept is

J The graph of t
the original line

e moves uphill from left to right while the graph of

d hill from left to right, and the y-intercept is
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3 (A.4B)

A botanist observes that when Chemical A is added to soil, the number of
lima beans produced per plant doubles compared that of the control gro
which did not have Chemical A added to the soil. He repeats the
experiment numerous times, maintaining a control group of plants

he does not add the chemical to the soil. The control group co es to
produce half the number of beans produced by the treated gs
the best conclusion based on this information?

A There is no correlation between the addition of the
increased number of beans.

B There is an association between the additi e mical and
increased number of beans, but no causationtis established.

C There is evidence indicating that a
plants to produce more beans.

ition of ical may cause

D There is a correlation between
increased number of beans, but no
exist.

N
S

© 2017 SpiralEd Solutions
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Spiral 86
1 (A.9C)

The table contains some points from the graph of an exponential functio

210|246
05| 2 | 8 | 32128

Based on the table, which function represents the same onship?
F f(x)=2(2)" G f(X) = 3(2):

H f(x)=2(3)" J f(

2 (A.90)

The table contains so e graph of an exponential function.

2 146
12 | 48 | 192

Bas , which function represents the same relationship?
(x) S2(2)" B f(x)=3(2)"
(x )5 2(3)" D f(x)=3(3)"
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3 (A.9E)

A biologist counts the number of amoebas in a culture at one-hour
intervals. The results are shown in the graph and table below.

170

160

150

130

120

100

a0

a0

70

60

50

B OoRMthe data, predict the number of amoebas at 4 hours.
F 1 G 160
H 113 J 200
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Spiral 87

1 (A.9E)

A biologist counts the number of bacteria in a culture at five-minute

intervals. The results are shown in the graph below.

Bacterial Growth

1400

1200

1000

800

BACTERIA COUNT

600 /
400

200

15 20 25

MINUTES

30

35

of bacteria at 31 minutes.

160

00
D 2400

© 2017 SpiralEd Solutions




[ |

2 (A.9A)

The graph of an exponential function is shown on the grid.

Er 3

Based on the grap '@ statement about the function is true?

F The range is t

G The dorgain i of all real numbers greater than 3.

JTh ' set of all real numbers less than 3.
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3 (A.9A) -

The graph of an exponential function is shown on the grid.

set of all real numbers less than -2.
e is the set of all real numbers greater than -2.
ain is the set of all real numbers greater than 0.

T omain is the set of all real numbers less than -2.

© 2017 SpiralEd Solutions




~
Spiralff@ Solutions

Spiral 88

1 (A.12C)

The first five terms of a sequence are shown below.

3,7,11,15,19...

What would be the 12th term?

Record your answer and fill in the bubbles below.

00000 O
CHONONONOROR RO
OROROVORO
ONOYF JONONO,
® QPR Cd B B
© RNVOET © D ®
® 0 YWE Cgb
©® ©® WM © ©
YNONOR.. JONORO)
QB CY® ® ® ®
O\ W M4ORONONO,

2 (A120)

The five s Of'a sequence are shown below.

2.5, 3,

W d be the 17th term?

5. B 10.5

C 11 D6
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3 (A.12D)

Given the pattern, 4, 8, 16, 32, 64..., which expression could be used to
determine the nth term?

F 4(ny G 4(2)"*

H 4(2)" J 4(2)™"

X
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Spiral 89
1 (A.12D)

Given the pattern, -12, -9, -6, —3..., which expression could be usedito
determine the nth term?

A 3n-2 B 3n-15
C 3n-12 D 15n-3
2 (A120)

Given the pattern, 2, 6, 18, 54..., what is\the value'of the 7t term?

Record your answer and fill in the buigbles below.

LEOEE@EEEEE ©
CEAEE®EEEEE)

LEEOE@E@EEE

LECEE@EEEEE ©
OEPE@E@EEEE O
OEOE@@E@EEEE ©
LEREE@EEEOE O
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3 (A.12D) o

A culture of bacteria doubles every hour, starting with 200 bacteria. Which
expression would represent the number of bacteria, b, after n hours?

A b=200(2)"
B b=200(2)""

C b=200n"

D b=200n""

X
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Spiral 90
1 (A.10C)

Which expression is equivalent to (x? + 7x — 22) + (x = 3)?

F x+10+ G x-10+ 8
x-3 x-3
H x+10+ J x+4+
x-3 x-3
2 (A100)
Which expression is equivalent to (x> x — 10) )?
A x-5+ 10
x—-4
C x-6+ Dg+4+
Xx—4 x-3

3 (A.12C)

r angles of a triangle is 180°, a quadrilateral is 360°, a
If this pattern continues, what is the sum of the angles of
h2-sided polygon)?

H 1800°

J 1500°
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1 (A.2G)
Which of the following lines could be perpendicular to the x-axis?
A A line passing through (-3, 2) with a slope of 1.
B A line passing through (2, -2) with an undefined slope.
C A line passing through (-4, -5) with a slope of 0.
D A line passing through (3, 4) with a slope of -1.

2 (A.2F)

Write the equation for a line passing through (&4, -8) and perpendicular to
x+y=-1

Fy=x+1
Hy=x-4

3 (A.2H)
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Spiral 92

1 (A.3F)

Graph the system of equations and determine its solution.
5x -4y =-8
x+4y =-16

F (3, 4)
G (3,-4)
H (-4, -3)

J no
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2 (A12B) o
The domain of f(x)=-2(4 - x) is {-4,-2,0,2}, what is the range?
A {-16,-10,-8,-4}
B {-16,-12,-6,-4}
C {-16,-12,-8,-4}
D {-16,-12,-8,-2}

3 (A.2A)

The range for the function, f(x)=-2x+ 3, is{%¥,—5,1,3,9} . Which of the
following is part of the domain?

-
§

© 2017 SpiralEd Solutions
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1 (A.4C)

The graph shows the relationship between the total weight of a bag of
cookies and the number of cookies in the bag.

Weight of Bag of Cookies Per Number of Cooki

"
’I
-

Weigt of Bag of Cookies

f”
rd

6 8 10 12 14
Number of Cookies in Bag

Predi t of a bag containing two dozen cookies.
A ounces
8 olinces
ounces

D 14 ounces
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2 (A.10B)

Which expression is equivalent to (6x — 8)(3x + 7)?

F 18x2 — 18x + 36

G 18x2 + 32x — 80

H 18x2 — 80x — 56

J 18x2 + 18x —56

3 (A.21)

Write the system of equations represented bythe tablg below.

© 2017 SpiralEd Solutions
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1 (A.2B)

A line passes through (-5, -1) and (3, 0). What is the slope-intercept formpof
the equation for the line?

13
Fyo_tyx_3
Y==2%"%

3 3
G y=—x--=
Y=8""3

3
8" 8
2 (A.2E) 4<::::/'

Write the equation for a li Wough (-4, 0) and parallel to
xX+y=-1.

Ax-y=-1

Bx-y=4
Cx+y=-

X"
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3 (A.3G)

Students receive a discounted price for tickets to the spring concert. On the
first two days of ticket sales a student sold 6 adult tickets and 4 student
tickets for a total of $68. On the second day of sales he sold 2 adult tick
and 4 student tickets for a total of $36. Use the graph below to det

the price of each adult ticket.

&

t tickets cost $8.
J Adult tickets cost $5.
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1 (A.7A)

A graph of f(x)=—-x*—-2x+3 is shown on the grid. Which of the followi

isazeroof f?

A3
B -1
C4
D1

j Solutions
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2 (A.3C)

Which graph shows a line with an x-intercept of 2 and a y-intercept of -4?

F
H
10
ression is a factor of 64x? — 49?
-1) B(2x+7)
C (8x—-9) D (8x +7)

© 2017 SpiralEd Solutions
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1 (A12A)

Which representation does not show a function?

F G
X |y
[ [ 2 | 3
4
. 8 | -
H
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2 (A.5C)

On the first day of the bake sale, 14 pies and 14 cakes were sold for a total
of $154. On the second day, 13 pies and 14 cakes were sold for a total
$148. What is the cost of one pie?

Record your answer and fill in the bubbles below.

SENONO) O
SHONO, )
ONO, ®
@ @ @ &
® @ ®
@ @ ONO),
® 6 & ®
© (0 (6)
@ AW @
OF ¢
©® © W
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3 (A.7C)

The graph of f(x)= x* is shown on the grid.

------------

Which statement about the relatio p between the graph of f and the
graph g(x)= x* + 3 of is true?

F The graph of g is narrower than th of f .
G The graph of g is wi anthe graph of f.

H The graph of gais below the graph of f.
J the graph,of g i its'@bove the graph of f.

X
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Spiral 97
1 (A.8A)

What are the solutions to 4x* —2x =247?

A x=-3and x=5 B x=-7and x=8

Cx=—gand x=0 Dx=1+\/§an X 97
5 4 4

2 (A.9D)

The graph of an exponential function is showRyon the grid.

1

h, which statement about the function is true?
F h@kizontal asymptote is -2. G The x-intercept is 3.

Thewertical asymptote is 0. J The y-intercept is 3.

© 2017 SpiralEd Solutions




3 (A.3A)

What is the slope of the line in the graph below?

© 2017 SpiralEd Solutions
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1 (A.2C)

SpiralEd Solutions

Which function is represented by the graph?

© 2017 SpiralEd Solutions
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2 (A.12E)

The formula for slope of a lineis m = Y2~ Y1 \Which formula could be used
Xy =X

to determine the missing y-coordinate of a point, if the slope, one pgi

an x-coordinate are known?

Ay, =m(x,+X,)+Yy,

(x2—x1)+y1
m

Cy,=

3 (A.7B)

Which statement about f(x)=2x? x +18 is true?

F The zeros are —% and 2 becaus

G The zeros are 23 be (x)=(2x+9)(x +2).

H The zeros are

pecause f(x)=(2x-9)(x-2).

JTh os argy— and -2 because f(x)=(2x-9)(x +2).
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1 (A.2l)

Write the system of equations represented by the graph below.
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2 (A.3D)

Which function is represented by the graph below?

w

F y<2 G y>2 > J x<2

3 (A.6B)

Write the quadra y =2(x—2)* +5 in standard form.
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Spiral 100
1 (A.6A)

What is the domain of the quadratic function represented by the graph
below?

© 2017 SpiralEd Solutions
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2 (A.6C) |

Which of the equations below does not describe a function with solutions of
2 and -37?

A y=2x*+2x-12 B y=x"+x-6
Cy=5x*+5x+30 Dy=5x*+5 @
3 (A.3B)

The table shows the amount of dogfood remaini
relation to the number of days dogs were fe

in 3 pépound bag in

Days

What is the rate for the data shown in the table?

Record your ans in the bubbles below.

O @

EEEEEEEEOE O

EEREE®WEEE O
EEEEE®E®EEOE O
EEEEE®EEOE O
EEEEE®EEEOE O
EEEEE®HEEE O
EEOEE®EEOE O
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1 (A.2D)

The distance in centimeters on a map is directly proportional to the
distance in miles on the ground. If 3.2 cm represents 176 miles on
ground, how many centimeters will represent 429 miles? Record yo

Spirall

—

) Solutions

answer and fill in the bubbles below.

© @

EEAE@®E@EEEE O

@0

PRAREEEEEE o

O IEEEEE O
ELEEEEEEE O
@@

eeoPeeede o

&)

CANE®E@EEEE O

(=)
.u
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2 (A.6A)
The table shows some ordered pairs that belong to quadratic function g.

What is the range of g?

X y
-4 12
2 0
0 4
2 0
4 12

F All real numbers

G All real numbers greater than or e

H All real numbers less than or egral t

J All real number less than or equa

3 (A.5C)

For a field trip a oMFansported 642 students on 11 vans and 9 buses.
On another field t ol transported 537 students on 4 vans and 9
buses. Fi f students that can be transported in each van

and each bu

Ava
an bus 83

us 53

12; bus 66

© 2017 SpiralEd Solutions




SpiralEd Solutions
Spiral 102 o
1 (A.6C)
Which equation has the same solutions asy = (x —6)° =307
Fy=x*-4x
G y=x*-12x+36
Hy=x*-12x+6

Jy=x-2

2 (A.10E)

Which expression is equivalent to W2 55x #427
A (7x+6)(x—=7)
7X—6)(x—7)

B (
C(7x+7)(x—6
D (7x — 7)@
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3 (A.8B)

The entrance to an athletic field is in the shape of an archway, represented
by the graph below, with y representing the height in feet of the arch abdue
the ground and x representing the distance in feet at ground level.

40 -

Whi

x(1-x)
H 7(x)=12x(2 + x)

J f(x)=12x - x?
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1 (A.7C)

The graph of f(x) = x* is shown on the grid.

------------

Which statement about the relatio bet n the graph of f and the
graph g(x)= x*—4 of is true?
A The graph of g is r graph of f .

B The graph of han the graph of f.

C The gra elow the graph of

D the graph

f.

nits above the graph of f.
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2 (A.7B)

Which statement about h(x) =3x*— x —24 is true?

F The zeros are —% and -3 becauseh(x)=(3x +8)(x +3).
G The zeros are —g and 3 becauseh(x)=(3x+8)(x-3).
H The zeros are % and -3 because h(x)=(3x —8)(

J The zeros are % and 3 because h(x)=(3X-8)(x -

3 (A.7A)

A graph of f(x)=—-x*-2x is show the grid. Which of the following
is the vertex of f?

777777777777777777

A(-1,4) B (-3, 0)

C (1, 0) D (4,-1)
© 2017 SpiralEd Solutions
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The exponential growth rate for a population can be determined by the
formula, A = Pk', where A is the final amount, P is the beginning amount} k
is the constant rate of change, and t is the time. A biologist used the

formula, A =10(2)"*, regarding the rabbit population in a define

The biologist wanted to determine...

F the number of months necessary for the populatio
G the initial number of rabbits in the populatighi based or final count.
H the constant rate of population growth.

J the total population of rabbits afterg@’designate e.

2 (A.9C)

The table contains so graph of an exponential function.

2 | 3| 4
27 | 81 243

, which function represents the same relationship?

B f(x)=3(2)

© 2017 SpiralEd Solutions




SplralEd Solutions
3 (A.9D)

The graph of an exponential function is shown on the grid.

i

Based on the gr. statement about the function is true?

he shows exponential decay with a horizontal asymptote of 1.
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1 (A.9D)

A student played a doubling game with his neighbor. Each round the
amount in the pot doubled, starting with a penny in round one. Th
below shows the amount in the pot for each round. The y-axis rg
the amount in the pot, while the x-axis represents the numbes
played.

Doubling Game

18

16

14

12 /
<10

Value of Pot in Cents
(o)} (0]

Round

d was the first to be worth more than a dime?
d5 B Round 4
C Round 2 D Round 6
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2 (A.9C)

The exponential growth rate for bacteria can be determined by the formula,
A = Pk', where A is the final amount, P is the beginning amount, k is th
constant rate of change, and t is the time. Which equation represents th
function for the population of a bacterial colony after 30 minutes t

with 20 cells and doubles every 2 minutes?

F A=20(2)" G A=20(2)%
H 20 =P(2)" JA= 20(%)15
3 (A.9E)

nation tournament decreases
able show partial data for a

The number of teams in a single-eli
exponentially each round. The g
tournament.

r

Round | Teams

ichfround will determine the winner?
B6
C8 D10
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Spiral 106

1 (A.3H)

Which graph represents the system of inequalities?
y>—-X+2
y<x+2

© 2017 SpiralEd Solutions
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2 (A.9E)

A biologist counts the number of euglena in a hay infusion at one-hour
intervals. The results are shown in the graph and table below.

170

Time | Count
. 0 10
1 20
2 4
3 0

80
70

B he data, what is the most reasonable prediction of the euglena
unt .5 hours?
B 160
C 113 D 200
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3 (A.8A)

What are the solutions to x*> —30 = x?
F x=6and x=-

G x=-7Tand x=8

H x=—gand x=0
5

J 1+:1/§ 1-

and x =

-bg‘
©
~

%

X
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1 (A.9A)

The graph of an exponential function is shown on the grid.

E S

Based on the graph, which ement ut the function is true?
A The range is the rea bers less than 0.

B The domain i ot all real numbers greater than 4.
C The range is th real numbers greater than O.

D The dom et’of all real numbers less than 4.

© 2017 SpiralEd Solutions
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2 (A.9A) |

The graph of an exponential function is shown on the grid.

) T 3 7 T g T F] 3 T 5 o

Based on the graph, which state
F The range is the set of all real nu
G The domain is the set o real numbers greater than 1.

H The domain is the g bers.

3 (A.

ich @Xpression is equivalent to (2x? + 13x + 19) + (x + 3)?

X+ 9+ B 2x+7+

X+3 x+3
2
C 2x+7- D2x-7-
x+3 x+3
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Spiral 108 ‘”
1(A7C)

Function f is in the form y = ax? + c. If the values of a and ¢ are both greater
than 0, which graph could represent ?

© 2017 SpiralEd Solutions
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2 (A.3D)
Which inequality is represented by the graph below?

""-...____ .
T
A x+4y <8 X4y >8
C x—-4y<8 D >8
3 (A.7B)
Which statement )=-5x*-28x-15 is true?
F Thexzeros —“and 5 because g(x)=(5x-3)(x-5).
; 3 _
he Zeros are = and -5 becauseg(x)=(5x-3)(x+5).

zeros are —% and -5 becauseg(x)=(5x-3)(x+5).

J The zeros are —% and 5 because g(x)=(5x+3)(x-5).
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Spiral 109
1 (A.8A)
What are the solutions to x* —8x =07
A x=-3and x=5 B x=0and x=8

1+\/9_7

4

and x

Cx=—%and x=0 D x=

2 (A.7B)

Which statement about h(x) = x* —16x + 60 i@true?

F The zeros are 6 and 10 becaus (x-6)(x-10).
G The zeros are 6 and -10 because
H The zeros are -6 an beeause M x)=(x+6)(x +10).

J The zeros are - ecause h(x)=(x+6)(x-10).

3 (A.7B)

Whic bout g(x)=x*-14x+48 is true?

A The z&Ios are 6 and 8 because g(x)=(x-6)(x-8).
TheéZzeros are 6 and -8 because g(X)=(x—-6)(x+38).

C The zeros are -6 and 8 because g(X) =(Xx +6)(x —8).

D The zeros are -6 and -8 because g(x)=(x+6)(x +8).
© 2017 SpiralEd Solutions
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Spiral 110
1 (A.2A)

What is the range of the linear function shown in the graph?

F4<x<3

H-4<y<3 J -3<x<05.

2 (A.6B)

a quadratic function with a vertex at (2, 0) and

© 2017 SpiralEd Solutions
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3 (A.7C)

The graph of f(x) = x* is shown on the grid.

Which statement ab ela ip between the graph of f and the
graph of g(x) =~

F The graph of g ower than the graph off .

ider than the graph of f.
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1 (A.11A)
Simplify +200 .

A 2450 B 104/2
c 2410 D 5042

2 (A.7A)

A graph of y = x> — x — 6 is shown on the grid. Which'of the following is a
root of this function?

o, G (0, 3)
, 0) J (-6, 0)

© 2017 SpiralEd Solutions
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3 (A.11B) o

The length of one side of a square is shown below. Which expression is
equivalent to the area of the square?

2x%y°z

A 8x%y°z
B 4x°y’z
C 4x*y°7°

D 4x*y°7°

X
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Spiral 112
1 (A.6C)

Which equation has the same solutions as the graph shown below?

© 2017 SpiralEd Solutions
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2 (A.6A)

The table shows some ordered pairs that belong to quadratic function g.

What is the range of g?

X -2 -1

-lo
—
N
N

y -7 -2

A All real numbers
B All real numbers greater than or equal to -2
C All real numbers less than or equal to 2

D All real number less than or equal to 4

3 (A10E) @
Which expression is a fact 0?

f x? + 3x
F (x + 10) Q

G(x—-1)

H(x +5)

J (x +<:
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Spiral 113
1 (A.2l)

Write the system of equations represented by the table below.

X VA Y2
-12 |15 | -4
-8 -3 -3
4 |45 | -2
0 -6 -1
y:—EX—G
A 8
y=—x+1
y_gx—G
C 8
y = 1 x -1
4 4
2 (A.11B)
The length of on 0 quare is shown below. Which expression is

equivalen afea ohthe square?

X3y2

z
3,,2 6,,4 6,,4 6,,2
I:2xy c_:‘2x2y HX)Z/ g Xy
z z z z
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SpiralEci’ Solutions

A biologist counts the number of bacteria in a culture at five-minute
intervals, shown in the graph below.

1400

1200

1000

800

600

BACTERIA COUNT

400

Bacterial Growth

/

2

15 20 25 30
MINUTES

35

Inutes the count was greater than 600.

number of bacteria doubled every ten minutes.

D At 20 minutes the count was greater than 400.
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1 (A.6A)

What is the domain of the quadratic function represented by the graph
below?

Solutions

© 2017 SpiralEd Solutions
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2 (A.9C)

Compound interest on an investment can be determined using the formula,
A=P(1+r)", where A is the future value, P is the beginning principle, r

the constant rate of change, and t is the time in years. Which equation
represents the value of an investment after 3 years compounded a
with an initial investment of $5000 at a rate of 2.3%?

A A=5000(1+0.23)°
B A =5000(1+0.023)°
C 5000 = P(1+0.23)°

D A =5000(0.23)°

3 (A.9C)

d 2% each year since 2010. If
ich equation could be used to
t years after 20107

has incre

The cost of college textbo
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1 (A.9D)

A student played a doubling game with his neighbor. Each round the
amount in the pot doubled, starting with a penny in round one. Th
below shows the amount in the pot for each round. The y-axis rg
the amount in the pot, while the x-axis represents the numbeglo
played.

Doubling Game
140
120
100 /
2 80
: /
S 60
s /
40
20 /
0
4 5 6 7 8 9
Game Round
Which the first to be worth more than a Dollar?
A n B Round 7

nd 8 D Round 3

© 2017 SpiralEd Solutions




SpiralEd Solutions
2 (A.9E) |

The number of teams in a single-elimination tournament decreases
exponentially each round. The graph and table show partial data for a
tournament, indicating the number of teams remaining after each round.

80

70

60

50

40

30

20

How many team the tournament?

F 32

G 64
28

56
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3 (A.2])

Write the system of equations represented by the table below.

X Y1 Y2
-6 |-0.5]-3.5
4 1]
-2 |-1.5] 1.5
0| 2] 4
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Spiral 116 o
1 (A.8B)

An object is launched from a ledge above ground level at an initial vertic
velocity of 96 feet per second. Its height, H, in feet, at t seconds is
represented by the graph below.

160

150

140

30

120

110

100

90

80

70

60

50

A tely how high above ground level is the ledge from which the
jectiwas launched?
eet G 160 feet
H 16 feet J 3 feet
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2 (A120)

. 171 1 1 . "
Given the pattern, 288 2" what is the value of the 6" term?
A I B _5

6 6
c_ 3 p_4

2 3
3 (A.6A)

What is the range of the quadratic function represented by the graph
below?

0
-5 -3 =2 -1 o] 1 2 3 4 5 6
-2
-3
; E -5

X Gy<5

E

F
H-3<x<2 J 4<x<5
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Spiral 117
1 (A.9A)

The graph of an exponential function is shown on the grid.

\
s
.

A contains nickels and dimes for a total of 81 coins with a total value of

any of each type of coin are in the bag?
F 40 nickels; 41 dimes G 17 nickels; 64 dimes
H 62 nickels; 19 dimes J 27 nickels; 54 dimes
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3 (A.9D) -

A student played a doubling game with his neighbor. Each round the
amount in the pot doubled, starting with a penny in round one. The grap
below shows the amount in the pot for each round. The y-axis represent
the amount in the pot, while the x-axis represents the number of r
played.

Doubling Game

140

120
100

80 /
60

. /

4

Value of Pot in Cents

5

Game Round

Wha the potin round 77
A $1. B $0.32
C D $0.64
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1 (A.7C)

The graph of f(x) = x* is shown on the grid.

------------

Which statement about the relatio bet

graph g(x)=%x2 of is tru

n the graph of f and the

5 units above the graph of f.
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2 (A.7C) |

Function f is in the formy = ax® + ¢. If the values of a and ¢ are both less
than 0, which graph could represent f ?
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3 (A.9A)

The graph of an exponential function is shown on the grid.

Based on p h statement about the function is true?
e of all real numbers less than 0.

e set of all real numbers greater than 1.

ain is the set of all real numbers less than 3.

he domain is the set of all real numbers greater than 2.
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1 (A.9C)

Property was purchased 8 years ago, for $200,000. The property value i |
the neighborhood has decreased by 6% each year since purchas

equation could be used to determine the present value, P, of t perty

A P =200,000(1-0.06)? B A=2000(1+6)°

C 200,000 = P(1-0.06)° D P = 200,000(1+ 0'06)

2 (A.6C) < ?
Which of the following functions has same the graph below?

i

y =X —4x Gy=x*-12x+36

Hy=x>"-12x+6 Jy=2x"+2x-12
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3 (A.9D)

A biologist counts the number of bacteria in a culture at five-minute
intervals, shown in the graph below.

350

300

250

200

150

BACTERIA COUNT

100

50

atc

Bacterial Growth

MINUTES

20

25

umber of bacteria tripled every five minutes.

biologist started with 100 bacteria.

C The number of bacteria doubled every five minutes.

D At 20 minutes the count was greater than 400.
© 2017 SpiralEd Solutions
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1 (A.11B)

The length and width of a rectangle are shown below. Which expression
equivalent to the area of the rectangle?

3x%y’z
xX*y’z
F 3x’y*z G 3x°y’z
H 4x°y?z 4x°y’ 72
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2 (A.9A)

The graph of an exponential function is shown on the grid.

Based on

helfange is the set of all real numbers less than O.
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3 (A.7C) |

Function f is in the form y = ax® + ¢ .. If the value of a is greater than 0, and
the value of cis less than 0, which graph could represent f ?
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